5 Rechne zuerst auf den Zehner q

Ol0[0/00
Qloolo
9+1+2= 72+1+3=
92+ 1+ 4= 9+ 1 +8=
7% 4 b= 9+ 1+5-=
7+1+9-= 7+ 1+ 7=
9+ 1+ 1= 7+1+0-=
241495 7+ 1 b= P41+ 7F=
7%= 7+ 1= 7 #8=
7+1+8 7 +1 7+1+0-=
7 ik = 7+ 5= 2] =
7+1+3 7+ 1+ 7+1+79
9+ 4 = 9+ 3 = 9+ 10 =
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(D’ Rechne zuerst auf den Zehner @

olojo[0
Qloolo
8§ +2+3-= 8+2+6-=
B2+ d= 8 +2+0-=
B+24 1= 8+ 2+ 4 =
8 +2+35= 8 +2+9-=
8 +2+8= 8 +2+12-=
84 24 35= 8+ 2+ 6= B+ 2+ 7
8 + 7 = 8 +8= 8 + 9 =
B+2+8= B+2+4= B+ 2 +0
8 + 10 = B + 6 = B+ 2=
8+2+3= 8+ 2+ 2= 8 +2+]
8 + 5= B + 4= 8 + 3=
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%&&m Rechne zuerst auf den Zehner

00 @
000 e
t+3+ 3= }+ 3+ 4 =
F+3+0= F+3+ 6=
P+ 3+ F= 7+ 34+ 2=
PR R F+3+5= F+3+0-=
I#F= F+8= F+ 3=
1+3+6= F+3+ 1= Pt 3o =
TS T e 7+ 10 =
FrIFI= 7+3+2-=
t+6= 7+ 5=
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§ Rechne zuers! au[ den Zehner 22

OloO
000
6 +4+ 2= 6 +4+ 7=
o ¥ 4 % 4= 6+4+ 7=
b*4+ b= b+ 4 +5 =
6 +4+ 8= b+ 4 + 3 =
6 +4+0-= 6+t4+ 1=
b+ 4+ 1= b+ 4+ 2= b+ 4+ 5=
6 +5 = b+ b = b+ 9 =
b+ 4+ b= b+ 4 + 3= S\N
6 + 10 = b+ F = 1‘2
b+ 4+ 4= o &l = )}&}
6 +8 = b + 4 =
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